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For each-question from 1 to 30, four options are given. dne of them is the correct answer.
Make your chofce (1, 2, 3 or 4). Shade the corect ovat (1, 2, 3 or 4) on thé Oplical Answer
Sheat. ' (30 marks)

1 The diagram below shows a fion, 2 platypus and a monkey.

Inwhat ways are they slmilar?

A They suckie thelr yaung.

B: They give birth to thelr young alive.

C: They have an outer bady-covering.of hair,
D: They start thelr life cycles as afertiiized egg.

1) Aand B only -
)] Aand G only
3) A, Cand D only
“). . ABGandD

2 The diagram below shows a stagein the life cydle of a butterfly. Which of the following
staterments about the omanismgtmisstage is comect?.

(1) {t does not breathe.

{2 ft feeds non-stop on leaves.

3) It has a hard wooden covering

(4) The larval structures are broken down.

— {Go onto the next page)




3 The family tree of the Lim family is shown belaw.

Jarues Lim . Jennie )

O

SO

Alicia Bradley Danielle

The table below summarises the physical traits of the famiy.

Canrdlltongie | Suffers from blood | Colowr —blind
James No _Yes Yes
Jennie Yos N No No
Alicia No ~ Yes No
Bradley T Yes " Ves Yas
o) - ~ No 1 - No . _ No
. Yés ___No No

Which chiki 7 chdldren inherited at teast one trait from his 7 her parents?
(1) Bradiay orily

(8)  Altcis arid Carot only
(4)  Alica, Bradley and Danlefie o

4 Which of the following staterent(s) isfare true about sexual reproduction in beth

flowering plants and mast animals?

A:  The male reproductive cells are cafled spets,

B; The ferale reproductive cells are stored in the ovary.

C: The fertilization process takes place in the female reproduciive system.

D:.  The male and female organisms have to meet for ferfilization to take
place. -

M Achly
®  Bonk

@) BandC oniy
@ A ahd D.only.

(Go on to the next page)



Ginaarewa cufiure of yeast cells and badenaicer!s She courited the number of
yeast cells and bacleria cells under a mirescope. She reoordedﬁmdatahatable
and plotted the graph as shown below.

Tioe (min) 0 1201 40 [ 60 | &0 | 100
No. of yeast cells 5 5§ | 8 10 10 10
No.ofbactsisloslis |5 | 10 ] 20 | 40 | 80 | 160

_Tkne (i)

What pattem do you obhserve about the divisions of yeast colls and/or bacterial cells?
(1) Both cells multiply at the same rate. T
) Bactevial cells depend on yeast cells to muitiply.

(3}  Baclerdd colls multiply two times every twenty minutes.
(4)  Bactorial cefté are double that of yeast cells every iwenty minutes.

(Go on to the next page)
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6  Thegraph below shows the amount of undigested food feft in the.various organs as it
travelied through the digestive systeni. ' L.

Amotnt of indigested fond

“Which parts of the graph represent the fouth and the small intastine?

| , Wouth Sinall intostine
) DG  BA

| {2) FE__ CB
4) FE BA

7 The arrows, A, B, C and D, represent blood vessels carrying Bloeod to and fro from the
lungs_, heart and other parts of the body.

LUMGS

ot
DA

( OTHER PARTS OF BODY ]

Wiiich two blood vessels canry blood with more axygen?

1) AendB
@ AandD
(3 BandC
(4 CandD

(Go on to the next page)
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8 Thediagram below shows a cactus and a huniming bird,

Where coukd the cell be taken from?

(1)  Thestem ofthe cactus

(2)  The feathers of the bird

(3)  Thoe red petals. of the flower.

()  Theneedlelike lstves of the caclus

{Go on to the next page)




16.

For questions 9 and 10, refer to the food web below.

- P!ant caterpiﬂ‘ar\
l Organism P
Organistn B
Hawk
. 1 /
Organism & '
What coutd Orgganisms P, @, R aind 8 be?
: 1P Q R S
2) | mynah Toat man___ | bactena
{4) | mynah {man_ Toat T batera

The following animals are preys as well as piedators. They are

(1) chicken and emantsm Q

2)  hawk, snake and organism R

(3)  squirrel, mouse and organdsin P
4)  squirrel, chicken and organism Q

{Go on to the et page)
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For questions 11 and 12, fefer o the picture below,

Whidlmeofﬂtefouovﬂmsta&rne:ﬁswmcﬂydmmesﬁwwmm i the

() There e pomstons

aro 8 papulations In 1 community.
) There are 32 popmdations in & comtounities.
“ There ara 32 organisms living in 2 communities

Whitch of the following arganismis will benefit directly if the level of carbon dioxide in

(1) Dragonflies and tadpoles

(2}  Waler lies and pond skaler

3  Watertiies and water hijacinths
{4}  Waterhyacinths anidwater boatmen

- {Go on to the next page)
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The tiagram heiow shows sofiie fife processes involving plants, carbon dioxide and

'QWmm _ - -
Process A Process B
Carbon dioxide Oxygen
give out - gweout
Plants
take in Ttakéin
Oxygen Gafbon dioxide

‘Which one of the following correctly represents processes Aand B?

A

reap!m

o bt [ P

(Go on to the noxt page)
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i4. Mmmmmmm A.B C, DandEtepfeseuiﬁVedﬁféfent
Wﬂmmﬂm&rha@mm

8 ¢

i

Population

{Go on to the next page)




15 \m'amm:manexpemtto investigata
ofp!w(nsynﬁxesrs of & plant.

i

Wsmmwm he should in
Which o of the following Is & sufable

1)

(&)

how the amount of light affacts the rats

bed jar covered
with black paper

SelupB

chide a cotttrof in his expaiment.
wn&u!forhlsemer&nsm?
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2

Foreém:quesﬁpn frotn 1 to 30, fouir options aré given, One of them is the coitect answer.
Make your choice (1, 2, 3 or 4). Shade the corréctoval {1, 2, 3 or 4) on the Optical Answer
Sheet. | (30 marks)

16 Mary wanted fo find out about the electtical conductivity of some materials.
She set up the fallowing expesiment as sfiown below,

The resulfs of the experiment are shown in the table.

Materdal of switch Light produced by fhe above dreuit
: Trial1 | . T2 Trial 3
. Stoel nall Bright Bright Bright
Aluminum foll " Brigit Dim “Dim Bright.
Copper fing _Verybright | Bright | Vary bright | Very biight
Penoll fead Dim Bright Dim D

Based on the sbove data, avange the materials according to thei elecirical
conductivity, from the weakest to the strongest. |
(1) Steel nall, pencit lead, aluminum foil, copper ring

(3)  PancH lead; dunitinum foil, stea! nall, copper ring
(4)  Copperring, a!tnnmum foll, steel nad, pencil lead,

(Go on to tite next page)




17 A piece of metal biock is placed In a container of water as shown in the diagram
Plastic cups are inverted over the metat b!ock and held down

Which of the following diagrams show the most likely ottcomes?

, ] hole
{A) : (B)

© _ ©)

{1} AandBonly
{2} BandConly
(3) CandDonly
4 BandDonly

{Go on to the next page)



For questions 168 and 19, refer to the diagfam. betow.

18

19

m&a@mbewwshowsmMpswnmdedtoagmaner The
capacity of the container is 500 em® and it cantains 100 ¢ré® of water.

air pump

SN NS
\;\Q SN N N \y
Piston A il Y Riston B .

I glass'container

e e e |

thFMonsAandBmpushedmmeMy&u 80 cro® and 100 cm? of alr are
forced Into the container. Whatlsﬁte volume of air In the cortainer?

(1)
(@)

)
“

The set-up is moved to a focation with a tempenature

of 35 °C. Aﬁer a few hours, the

volurae of water in the glass container is observad to have decreased. Whatls the
maawmf«ﬂtbobsuvaﬁm?

The water has evaporafed inside the container.
The water hias condensed inside the cordainer,
The water has condensed outside the contalter.
The water has evapatated oufside the contalner.

{Go on to the next page)




20 Eaine sots up two circults as shown balow, All the bulbs and dry calis In fhe two
- clcuits are cal erdd In good working condition.

Hﬁiﬁmmmawy@ummmm what are the Gkely observations that
she will make?

A The bulb in CGlroult P will be brighter than before.

B8: ‘The butbs In Circuit Q will be dimmer than bafors,

c: mmmmamzmmmm

0 The bulk in Clreuit P will tast longer thar thoge In Clroultt €.

1) A and B only
) AaxiGonly
{3) A and D only
9 BadDonly

(Gooti o the next page)
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“The table below shows the state of four Substances, W, X, ¥ and Z, at differant

temparatures

gmiermrintm—

Substance

Stafe of substances sl

807

0

e 30°C

(¥

il

qued

N[t

aok .
ol 73

Bicrid
_sofid

Which of the following statements is comect?
(1) Substanca W has the lowest bolling point.

The f

point of Subrstance Yeis 80° C.

of Substance X 50° C,

{3)
(4}  Substance Z bas the highest freexing point.

Biva warted to find out whether Liquid Z is a condduslor of elactridty. The diagram

below shows his setup,

lsswa‘#set-cmmct?w

Reason

é

— THis aclosed Grout.

{1).

3

ltis not a closed drouit.

.s-

The xﬁ_dowmtneedtoﬁght .

@ [Wong :

(Go on fo the next page)




7
Sorat strips of copper and stest are joined together In different ways as shown fnthe

\
\B
g |

Which set-ups will- bend when hested?
( AsndBonly
) AaundC

) BundDonly
@ A,BandDonly

(Go on to the next page}
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A rofler eomcardﬁeenothavemmg&w.m c'argew.aliitsene@yfmmﬁxe
helght at which the ride beglns. The:car tuns on tracks and some of ifs original energy

The drawiigs below show four different roller coaster track designs. On which track
would a roller coaster car be most likely to travel from GO to §TOP?

6o ep
o, a1
8 =
Length of ida Length of ridg
G0 6o

& & -

= 5 . .

® . © D —— Sayt
Langth ofide Langth of ride

{Go on to the next page)




For questions Z5 and 26, refer fo thé picture belfow.

- - -
-

25  Weining sets up an-expammtmﬁgﬁmdmb&hw?heo&e&isas{ee!mg
vﬁhanwatp!&ceoftmkmwermtedoammdee!ﬁam

Af which pasitions ahmﬂdﬁwmandﬁueobgemba placed to obtain the
smaliast shadow on the screed 7

oy Fostion R Ig_|  Padtave Obiod
X7} e 3
' & vV
4 5 v

{Go onto the next page)
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26 Whatis fire shadow cast by the objoect on the screen?

U] {2)

&) “

(Go on to the next page)
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Wendy grouped several objects aceordmg fo the miain form of energy that they
praduced, .

(=]

y B — — I . n ~
p a [ R s
N S N A J
" ~ M ~ i Y
Coal . Radio Flying. Arrow Table tamp
Woad Alamn clock Rutining water TV ecreen
e w, \., ./ \_ > .. J/

1) Potenﬂa!enatgy Electiical energy | Gneficenemy . | Lightenergy |
@ Hema‘ﬁ&gy o ctioal enany | Sotrderii it e

(3) | Potentialenergy
{4) Heat ensrgy

{Go on fa the next page)
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28 Me:!.mgsets upanmemnenttot%ttheext@sion ofa spring inrelation to the -
load suspended. There are four loads, P, Q, Rand S, to be attached to each spring.

P Q R S

“Tohave afair test, which of the following variablos must b kept the samis?

A ’I‘heiype ofspmgmed

B: Thematerial of the load

C:  The mass of the load used .

D:  The otiginal fength of the spring..
(1) AandBonly
) AandDonly

(8) A BandConly
4) A BandDonly

(Go on to the next page)
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Shawn wanted to find out how much force was needed to avercome the attraction of
different materials which were affracted to a strong magnet: The materials are of simitar
size. He set up the experiment as shown beltow.

s a ﬂ - hlllll._;i: :}
| , . 1 - B e, ~—
’mﬂe{/ matetial Spitag balarge
He puled on the spring balance urdl the materiatwas separated from the

magnet. The readings ofi the spring batance wisre recordad as showh below.

_ Ma‘tgﬁai _{_Readings on the Spiing Balanca (unit force)
| : 3B

0|20
Bl

What conélusions could he make from the above readings?

A:  Qistie best materal for magnetic attraction.

B: R made from.a heavier material thian material Q..

C: P and 8 are made from the same tnagnistic materal.

D: Riseasierto be magretized as compared to material P.

(1) Aonly
() BendConly
(3) AandD only

(4) A BandConly

{Go on to fhe next page)
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30 Susan wants o find 60t how far an etastie band can stretch, The tesulls of her
experiment are shown in the graph below.

A
‘ 16
Distance B
efaglic
{om)- 10 {_
5 |
0 { | I ! .
50 100 150 200
- Mass hanglng on efastic bapd ©

What happens to the elastic bang when the mass hanging on the efastic band is
greater than 20097

(B The elastic band breaks.

(2) The elastic band-becomes loasa.

(3) ‘The-elastic band reinains the same.

@ The elastic hand siretches to above 15 om,

End of Booklet A2
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2

For questions 31 {o 37, write your answers in the spaces providad.

[20 marks}

31 Mabel is given the classification table of some organisms es shown below. (2}

Otgani'sm§
- -
| ]
No legs With legs
- ] . . R e 1
(A) 3 paits of logs 4 pairs of legs More than 4
] " S - pairs of legs
| ] ©
Wings No wings
i |
® @) .

She wants to match the pictures given belowta A, B, C and D.

Tapeworm

(Go on to the next page)
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32 The diagram below shows how three different hupian systems interact and work

together to camy out fife processes.
Digestive System 4 _ Respiratory System
X B Allpar&ofﬂie amll o ol Y
~» body
g *I't 20w

Answer the following questions bagad on the diagram above.

(a) X and Y are ompans found in the systehs as shown above while Z is a system. ldentify
whatare X, Yand Z ' [13]

(b). The different sutows in the diagram fepresent different substarices carried toffrom
all parts of the body. kdentify the different substances. ' [1%]

WL,

{Go on fo the next page)
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33 Thefiow chart Bielow links up somie nformatior about eight organisms, A, B, C, D,

E F,Gand tH.
Stort Does it havea Yes | Doesttlyeggson | YeS | oo
Here -~ Magclifeqd& » L !
e N ve | we |
" Doestrhavea ‘ﬁ a
3-stage Kfe cycle?
Yes
Az ,
Daes it have
indernal
fertilisation? ,
Does it bresthe E
Ho through lurgs? e
h 4 b= .

{8)-  ldentify the letters that best represent each of the following animals. {2

] Chicken:
() Mosquito:
)  Why do orgarisms reprodice? ' !

{Go on to the next page)




34 The body length of an organisim is obsesved to have changed over time. The changes
are measured and the data platted ina graph as shown below.

Body Lengti (cm)

F 3

[
L

Time (days)

@  Wiratdoes the graph show about the growth of the orggnism? 1]

(b}  Whatis the name of this mmofgmvmm allow the specific chariges
in the body length £ ke organism as shown fn the graph? K

(o)  Whyls this process necessaty for the organism? [l

{Go on to the next page)
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6

-

A fasmer wants o find out which type of water pathways would be more sultable for
his crops, He has two sef-ups, Aand B, as shown in the diagram befow, The.

" water pathway in A is a straight inewiile thatin B Is a winditig Hine. The baxes In
bomset;upsms!rnﬂannsize-andmﬂmmamma;oll

The same:amount-of water wess powed from the water canatthe safievate onto the
water pathways in A and B. The damount of water dredned into the pails, X and Y, was
gach measured and recorded as shown in the table below.

Pall | AmountofWater (ml)
X 260
Y 1o

(8)  Which fype of water pattwvay would the farmer use for his crops? [}

(b  Give areason for your answerin (a). . {1]

() Name onis other variable hat thie farmior must keep constant besides those
. already mentioned., ' 1

{Go on to the next page)
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36  Karen collected thwee heakers of water from'thre_e different places, R, § and T. Using
the set-up shown belcw.ShemeasuredandrecordedﬂTeammdﬁghfﬂiatpassed

(@)

®

©

through each begker of water. The resuits-of the experiment ara-shown in the fable,

Location | Amount of Light recorded by Sensor ()
o

R
S 15
— T ' 10
Based on the results iri the table, th which location are submerged water plants
most likely to survive? : {1}
Glve a reason for your. answer in (a). M

Sketch In the space below the relationship between the amount of fight and
the rate of photosynthesls. 1.

Amount of
Light

Rate of Pliotosynthesis

{Go on to the next page)
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()

()

8 - .

it is a known fact that an aquarisn needs pientyofw.’aierplénts émdenoughsnaﬂ_sar
ofher scavengers. This Is to enable fishes to thrive in it.

Give: fwo reasons why water plants shotld be placed in it {1
Reason 1:_

Reason 2:... -

Explain why sniadls or scavengers are placed in an aquariurn. 12}

End of Booklet 61
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For quéstions 36 to 44, wite your answers inthe spaces provided. _ [20 toarks]

38  The diagram below shows the water aydle,

Clouds
STAGE & -
P Water vapour : Rain Q
STAGE 2 STAGE 4
Seas
Houses Factories

Rivers . -

STAGE 4

(@) Onthe diagram above draw in two arrows to show the process of
evaporation taking place Inthe water cydle. ' {1

(b) Atwhich stage is water in the gaseous stage? {11

(¢} Explain why the process of evaporation is necessary In the water cycle.  [1]

(Go on to the next page)
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.Dtamam Ashows a bal{ofplasﬂdne ma;arofmaoamﬁm volisme 300 ml. It conatted

some water. The plasticine was taken out anid reshaped Into four smallér balls. The
four smaller balts were then putback into the ssime Jar.

{
¢ p B BB

il

In tha-space below, draw the new level of watern the far. T HE

_ ball of plasticine

A1y
3§§§§§

A r— —
"~
r —
e

Give a reason why the water level is drawn at thatleve! tn (g). i1l

(Go on to the riext page)



-40 Youaregwenfourbattenesandtwobulbs ﬂwtwobulbsareofsvoitsandzsvolts.
- Thebuib\wtflz.ﬁvdtslsnotasbnghtasthebtﬂb\'aﬂusvottsmnoonnected

(8) Draw wires to show how you would connett the four baﬂeﬁes and the two bulbs
s0 that only ane bulb wilt emithee brightest light-and will not fuse. 4]

h — S - I |  6-?3
&)

(b} State the arangement of the four batieries and two bulbs for your answer in (a).
{1

(Go on to the next page)




41 Maya set up the experiment as shown below, She tested four objecis, A, :
B, C and D by securing each of them one at a time on the plastic board with a sficky - -
fape. - - -7 S

She observed what-happened to the spring coll and recarded her observations
in the table below. ' .

—

Magnet

— Plastic board
_-g § i | Spring coit

Object - Length of Spiing Coil (cm)
A - G L
B i
c 3
D o 4

(®  If the original length of the spring coil is 4 cm, what could the foliowing objects be if

object B is a magnetic object?

® Cia - T om

i Disa—— . e (1Y
{b)  Give areason for your answer in (a) part (f). {11

(Go on to the next page)



42 Janewmdmnanexpemnerﬁtoﬁndomﬁﬂwm&aveuedbyatcycar
depended on how much it was wound up. Thetab!ebelowshowsther&mﬁts

&)

(b)

(c)

Number of Tums Bistance travelied (cm)
4 25
B 55
11 71

Name another vatiable.

One variable that should be kept the same for this experiment is the toy car.

I1]

The resulis show that the toy car travelled a greater distance when the number of

tums was increased. Why is this so?

{1

How can the results of the experiment be made more refiable? 1

{Go on to the next page)




David's car is-petrol-driven. in the morning, he starts his car from rest and his
car slowly increases to a uniform speed as it travels along a straight level road.

‘a) Stale the eneray chariges thattake place inthe car. - ]

(b) The car now dimbs a slope with 1o change in speed as shown in the diagram

® What happens to the petrol consumption of the car as cotnpared to it travelling

on a straight level road? _ _ i
{ii) Explain your ahswer i (i). ‘ i1
(Go on to the next page)



ﬁrnnwmsatoymatcomdasmandasﬁee!m Hafastanedﬁweapnng
onto a table top and held a sirong magnet near to the steel Ting as shown. He then
observed that the toy was pulled fowsrds the magnet.

(a) What are the foroes adting on the steel ring? [1}

{b) Aﬁersomeﬂme.lunmydecldedtoremweﬂwmagnetfarmyfmnﬁlemy
What would happen to the foy? _ i1}

(© Complete the energy conversions that have taken place in the toy In (b) when

the magnet was removed. {1]
Gravitational | g Gravitational
Polenfial + — * Potential
Energy Energy

End of Booklet B2




EXAM PAPER 2012 -

SCHOOL : MGS
SUBJECT : PRIMARY 6 SCIENCE

TERM : SA1 S -

Q11021 Q3 04105106 | Q7 | 081 Q9 |Q10{0Q11{012]Q13] Q14 Qi5] Q16 | Q17
3 4 4 3 3 2 2 1 2 1 1 3 3 |.-2 2.1 3 4
Q181019 | Q20 | Q21| Q22 QiB 024 1 Q251026 | 0271 Q28 .Q29- Q30
2 1 2 . 4‘ 2 3 4 3° ]2 4 4 1 1
.31)A: Tapeworm B: Butterfly C: Ant D: Spider
32)a)X: large intesﬁne Y: lungs Z: circulatory system
D) ey digested food
-* - oxygen
== = carbon dioxide
33)a)i) ii)C
b)To ensure the continuity of their kind.
34)a)It shows a pattern of no growth and then sharp growth over time.
b)Moulting.
c)To allow the organism to grow.
35)a)Winding pathway :
b)Roots can absorh more water as the dramage of water is lesser.
c)Type of soil.
Page 1t03 page 1



A S R LS BTSN S BT LA, e Ar s natels ra e facs

36)a)Location S. ' -

b)Most light was recorded therefbré more light was able to pass through to

allow photosynthesis to take place.
)4 '._ - T : .

o
-

37)a)1)To provide oxygen for the water animals.

2)Provide shelter for the water animals.

b)The snails and scavengers are placed in the ta

fishes , so that the aquarium will be clean.

L Clouds ' ‘
/A STAGE 3 y w
P l Water vapour , Q
| STAGE 2 // STAGE 4

38)a)

Seas
Houses Faclories”
STAGE 1

b)Stage 2.

c)The water from the seas and rivers need to evéporate to become vapour

nk to eat the waste of thr

to condense to become clouds and fall as rain, if not there will not be a water

cycle.

Page 2




39)a)100 - | .
. b)The four smaller balls have the same volume as the big ball thus, the -
'volume of water will be the same.

RN . |
FH},’N 0

: 40)3)

- b)Series arrangement,

41)a)i)magnet. ii)Rubber ball. , :
b)The like poles of C and the magnet are repelling-each other.

42)a)The type of floor. :

b)There is more elastic potential stored in the toy car when it is wound up
more and so the toy car can move for a longer distance.

C)Repeat the experiment.

43)a)Chemical potential energy is converted to kinetic energy.
b)i)The petrol consumption will be more.
ii)When going upslope, more energy is required to overcome gravity so
more petrol will be needed. : : : St

44)a)Gravitationat force and elastic potential energy.

b)When the magnet is move away, the toy will return to its original
position.

c)elastic potential energy->kinetic energy
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